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Algebra: Area of a Parallelogram

Find the area of a parallelogram.

35in.

19%;; /di15in.

b

Step 1: Find the length of the
base and the perpendicular
height.

b =35in.
h=15in.

Step 2: Use the formula to
find the area.

A = bh
A=35X 15 =525in2
The area is 525 in.2

Find the missing measure.

N

A = 490 ft?

b

Step 1: Put the given
measurements in the formula.

A = bh
490 = b X 14

Step 2: Solve. Use opposite
operations.

490 = b X 14
490 (b x 14)
14 = 14

35 =5

The base measures 35 ft.

Find the missing measure for each parallelogram, given base b, height h, or area A.

1. b=22m
h=14 m
A="[]

4. :

iz%yd
h
32yd
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2. b= 6? ft
h=3gft
A=01
5. A
|
o
9.5m
A = 204.25 m?

3. h=5yd
A = 60 yd?
b=101
6. \
|27cm
[d
b
A =567 m’

Use with text pages 536-537.
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Solving
Area of a Parallelogram 20.4

Use a ruler and the diagram to solve
Problems 1-2.

. . I Show Your Work
1. Enrique is designing a logo for the

Science Club to put on their t-shirts. How
many parallelograms are in this design?
Find the area of each.

2. Enrique changes the logo. It is now twice
the height shown here, though the width
remains the same. Now what is the area
of each of the four outer parallelograms?

3. Imagine you cut a parallelogram out of a
sheet of paper. You then draw a horizontal
line somewhere along the parallelogram
and cut along the line. The height of the
new parallelogram is now g the height of
the original parallelogram. What do you
know about the area of the new parallelo-
gram compared to the area of the original
parallelogram? Explain.

4. Suppose you traced this rectangle and cut
it out. Then you cut along the diagonal
and taped the pieces together to form a N
parallelogram. Obviously, the area of the
parallelogram is equal to the area of the N
rectangle. How could you show that N
mathematically? N
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